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Enrollment No: _______________________    Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Summer Examination-2022 

 

Subject Name: International Economics – II 

Subject Code: 4AH06INE1                  Branch: B.A. (Economics), B.A.LL.B.  

Semester: 6  Date: 06/05/2022           Time : 02:30 To 05:30         Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 

(2) Instructions written on main answer book are strictly to be obeyed. 

(3) Draw neat diagrams and figures (if necessary) at right places. 

(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions (MCQ) (14)  

1 a) 1 Since 2014-15 , India has consistently run trade surplus with which one among the following 

countries ?2014-15 થી, બાયતે નીચેનાભાાંથી કમા દેળ વાથે વતત લે઩ાય વયપ્રવ ચરાવ્મો છે? 

A. China  ચીન 

B. Saudi Arabia વાઉદીઅયેબફમા 
C. USA યએુવએ 

D. Germany જભમની 

 

2 b)  “Economic Reform” measures in India where formally introduced in બાયતભાાં "આર્થિકસધુાયણા" 
઩ગરાાંજમાાંઔ઩ચારયકયીતેયજૂકયલાભાાંઆવ્માશતા 

A. July, 1991  

B. August, 1947 

C. January, 1980  

D. March, 1990  

 

3 c)  Balance of Payments is an accounting statement that records monetary transactions between 

________ફેરેન્વ ઓપ ઩ેભેન્્વ એ એકાઉનન્ટિંગ સ્ટેટભેન્ટ છે જે________ 

લચ્ચેનાનાણાકીમવ્મલશાયોનેયેકોડમકયેછે 

A. Residents of a nation and the rest of the worldયાષ્ટ્રઅનેફાકીનાર્લશ્વનાયશલેાવીઓ 

B. Non-residents and the rest of the worldબફન-ર્નલાવીઅનેફાકીનાર્લશ્વ 

C. Residents of a nation and non-residentsયાષ્ટ્રનાયશલેાવીઓઅનેબફન-ર્નલાવી 
D. None of the aboveઉ઩યોક્તભાાંથીકોઈનશીં 

 

4 d)  Balance of trade is the ___________.લે઩ાયનુાં વાંતરુન___________ છે. 
a. Difference between export and import of 

servicesવેલાઓનીર્નકાવઅનેઆમાતલચ્ચેનોતપાલત 

b. Total of export and import of servicesવેલાઓનીકુરર્નકાવઅનેઆમાત 

c. Difference between export and import of 

goodsભારનીર્નકાવઅનેઆમાતલચ્ચેનોતપાલત 

d. Total of export and import of goodsભારનીકુરર્નકાવઅનેઆમાત 
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5 e)  If the trade deficit is Rs. 1000 crores and the import of goods is Rs. 2000 crores, then the export 

of goods will be Rs. _________.જો લે઩ાય ખાધ રૂ. 1000 કયોડ અન ેભારની આમાત રૂ. 2000 

કયોડ, તો ભારની ર્નકાવ રૂ. _________ 

A. 2000 croresકયોડ 

B.1000 croresકયોડ 

C. 1500 croresકયોડ 

C. 1500 crores    કયોડ 

 

6 f)  Identify which of the following statements is true . નીચેનાભાાંથી કયુાં ર્લધાન વાચુાં છે તે ઓ઱ખો. 
a.The Flexible exchange rate system gives the government more flexibility to maintain  

large stocks of foreign exchange reserves. રલચીકર્લર્નભમદયપ્રણારીવયકાયન ે

ર્લદેળીર્લર્નભમઅનાભતનાભોટાસ્ટોકનેજા઱લીયાખલાભાટેલધસુગુભતાઆ઩ેછે. 
b. In the managed floating exchange rate system, the government intervenes to buy and  

sell foreign currencies. વાંચાબરતફ્રોરટિંગર્લર્નભમદયર્વસ્ટભભાાં, વયકાયર્લદેળી 
ચરણખયીદલાઅનેલેચલાભાટેશસ્તક્ષે઩કયેછે. 
C. In the managed floating exchange rate system , the central bank intervenes to moderate 

exchange rate fluctuationsવ્મલસ્થાર્઩તફ્રોરટિંગર્લર્નભમદયપ્રણારીભાાં,  
ભધ્મસ્થફેંકર્લર્નભમદયનીલધઘટભાાંભધ્મસ્થીકયેછે. 
D. In the fixed exchange rate system , market forces fix the exchange rate.  

ર્નર્િતર્લર્નભમદયર્વસ્ટભભાાં, ફજાયદ઱ોર્લર્નભમદયનક્કીકયેછે. 

 

7 g)  Which of the following statements is false ?નીચેનાભાાંથી કયુાં ર્લધાન ખોટુાં છે? 

a.Depreciation of the foreign currency leads to the fall in exports 

ર્લદેળીચરણનુાંઅલમલૂ્મનર્નકાવભાાંઘટાડાતયપદોયીજામછે 

b.Devaluation of the domestic currency leads to a rise in imports 

સ્થાર્નકચરણનુાંઅલમલૂ્મનઆમાતભાાંલધાયોતયપદોયીજામછે 

c.Appreciation of domestic currency leads to rise in exports 

સ્થાર્નકચરણનીપ્રળાંવાર્નકાવભાાંલધાયોતયપદોયીજામછે 

d.Appreciation of foreign currency leads to a fall in imports 

ર્લદેળીચરણનીકદયઆમાતભાાંઘટાડોતયપદોયીજામછે 

 

8 h)  Main domestic currency loses its value in relation to a foreign currency in the international 

money market, it is a situation of 

મખુ્મસ્થાર્નકચરણઆંતયયાષ્ટ્રીમભનીભાકેટભાાંર્લદેળીચરણનાવાંફાંધભાાંતેનુાંમલૂ્મગભુાલેછે, 

તે઩રયસ્સ્થર્તછે 

a. Currency appreciation ચરણનીપ્રળાંવા 
b. Currency depreciation ચરણઅલમલૂ્મન 

c. Currency devaluation ચરણઅલમલૂ્મન 

d. None of the above ઉ઩યુમક્તભાાંથીકોઈનરશ 

 

9 i)  Capital account convertibility of the Indian rupee 

implies.બાયતીમરૂર્઩માનીકેર્઩ટરએકાઉન્ટકન્લરટિબફબરટીસચૂલેછે. 
a) That the Indian rupee can be exchanged by authorized dealers for 

travelપ્રલાવભાટેઅર્ધકૃતડીરયોદ્વાયાબાયતીમરૂર્઩માનુાંર્લર્નભમકયીળકામછે 

b) That the Indian rupee can be exchanged for any major currency for the purpose of trade in 

goods and 
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servicesચીજલસ્તઓુઅનેવેલાઓનાલે઩ાયનાશતેભુાટેબાયતીમરૂર્઩માનેકોઈ઩ણમખુ્મચરણભાાંફદરીળ
કામછે 

c) That the Indian rupee can be exchanged for any major currency for the purpose of  trading in 

financial 

assetsનાણાકીમઅસ્કમાભતોભાાંલે઩ાયકયલાનાશતેવુયબાયતીમરૂર્઩માનેકોઈ઩ણમખુ્મચરણભાાંફદરીળ
કામછે 

d) None of the aboveઉ઩યોક્તભાાંથીકોઈનશીં 
10 j)  One of the important goals of the economic liberalization policy is to achieve high convertibility 

of the Indian rupee.Which of the following is not a benefit of convertibility ? 
આર્થિકઉદાયીકયણનીર્તનાભશત્લનાધ્મેમોભાાંન ુાંએકબાયતીમરૂર્઩માનીઉચ્ચકન્લરટિબફબરટીશાાંવરકયલાનો
છે. નીચેનાભાાંથીકમોકન્લરટિબફબરટીનોરાબનથી? 

a) Convertibility of the rupee will stabilize its exchange value against major currencies of the 

world. રૂર્઩માનીકન્લરટિબફબરટીર્લશ્વનીમખુ્મકયન્વીવાભેતેનાર્લર્નભમમલૂ્મનેસ્સ્થયકયળે. 
b) It will attract more foreign capital inflow in Indiaતેબાયતભાાંલધરુ્લદેળીમડૂીપ્રલાશનેઆક઴મળે 

c) It will help promote exportsતેર્નકાવનેપ્રોત્વાશનઆ઩લાભાાંભદદકયળ ે

d) It will discourage imports to Indiaતેબાયતભાાંઆમાતનેર્નયાળકયળ ે

 

11 k)  Which of these organisations emphasises on the liberalisation of foreign investment and foreign 

trade?આભાાંથીકઈવાંસ્થાર્લદેળીયોકાણઅનેર્લદેળીલે઩ાયનાઉદાયીકયણ઩યબાયમકેૂછે? 

A) International Monetary Fundઇન્ટયનેળનરભોનેટયીપાંડ 

B) World Health Organisationર્લશ્વઆયોગ્મવાંસ્થા 
C) World Trade Organisationર્લશ્વલે઩ાયવાંગઠન 

D) International Labour Organisationઆંતયયાષ્ટ્રીમશ્રભવાંસ્થા 

 

12 l)  Tax on imports is considered as an example of આમાત઩યનાકયનેઉદાશયણતયીકેગણલાભાાંઆલેછે 

A) Collateral કોરેટયર 

B) Trade barriersલે઩ાયઅલયોધો 
C) Foreign tradeર્લદેળીલે઩ાય 

D) Terms of tradeલે઩ાયનીળયતો 

 

13 c.  Foreign exchange and foreign currency in India are governed by 

બાયતભાાંર્લદેળીર્લર્નભમઅનેર્લદેળીચરણદ્વાયાવાંચાબરતથામછે . 

A.SCRA Act. 

B.FEMA Act. 

C.Banking Regulation Act.  

D.SEBI Act.  

 

14  Brent index is associated withબ્રેન્ટઈન્ડકે્વવાથેવાંક઱ામેરછે 

a) Crude oil pricesક્રૂડઓઈરનાબાલ 

b)Copper future pricesકો઩યબાર્લબાલ 

c)Gold future pricesવોનાનાબાર્લબાલ 

d)shipping rate indexર્ળર્઩િંગયેટઇન્ડકે્વ 

 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Explain after 1991 the direction of Indian Foreign trade. 1991 ઩છી બાયતીમ ર્લદેળી લે઩ાયની (14) 
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રદળા વભજાલો. 
Q-3  Give change in the structure of foreign trade in India.બાયતભાાં ર્લદેળી લે઩ાયના ભા઱ખાભાાં 

પેયપાય આ઩ો. 

(14) 

Q-4  Explain the final and effective solutions taken by the government for improving the adverse 

balance of payment. પ્રર્તક઱ૂ ચકુલણી વાંતરુન સધુાયલા ભાટે વયકાય દ્વાયા રેલાભાાં આલેરા 
અંર્તભ અને અવયકાયક ઉકેરો વભજાલો. 

(14) 

Q-5  What is Import substitution? State the importance and objective of import substitution. 

આમાત અલેજી શુાં છે? આમાત અલેજીનુાં ભશત્લ અને ઉદે્દળ જણાલો. 
(14) 

Q-6  State the impact of current trends of the international economy on Indian economy.બાયતીમ 
અથમતાંત્ર ઩ય આંતયયાષ્ટ્રીમ અથમતાંત્રના લતમભાન પ્રલાશોની અવય જણાલો. 

(14) 

Q-7  Import -Export Policy of 2015-16.2015-16ની આમાત-ર્નકાવ નીર્ત. (14) 

Q-8  Write notes: ટૂાંકીનોંધ (14) 

 1 Convertibility of currency in Capital account.મડૂી ખાતાભાાં ચરણની ઩રયલતમનક્ષભતા.  

 2 Tendencies in the modern Indian Foreign Trade.                                                            

આધરુ્નક બાયતીમ ર્લદેળી લે઩ાયભાાં લરણો. 
 

 


